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2 sq. m. 

 

Rough, 

Area = 
Population

Population density
 

      = 
300

150
 Sq. m 

        = 2 Sq. m 

  

 

550 people. 

Rough, 

Population = Population density × Area = (110 × 5) people = 550 people 



 

The difference between upper and lower class 

boundaries of a class. 

 

Rough,  

Highest value = 10 

Lowest value = 3 

∴ Difference = 10 – 3 = 7 

 

 

There are 2 types of data. They are: 1) Organized data, 

 2) Unorganized data. 

 

Organized data.

 

Unorganized data. 

 

14 crore 23 lac. 

 



 |||| ||?              

7. 

 

9. 

 

471 people / sq. km.

Rough, 

Population density = 
Population

Area
 

                       = 
1517000

3221
 people / sq. km. 

                              = 470.97 people / sq. km. 

                              = 471 people / sq. km.

 

Unorganized data.

 

Organized data.

 

3. Prepared by – 

Sadia Khanam 



 

 

 

 

 

 


